FREEDOM EXAMS
THIRD TERM EXAMINATION
SUBJECT: MATHEMATICS CLASS: 2

SECTION A
Choose the correct answer from the options lettered A- C
1. Thirty-eight kids are riding on the bus. Half are girls. How many boys are on the bus?

a. 28 b. 19 c. 29
2. What is the name of the figure below?

a. Rectangle b. Kite C. pentagon

3. Adoma, Jerry and Markus have 72 markers all together. If the markers are equally

divided, how many will each person get? a.12 b. 24 c. 32.
4. If bx6=12,findb. a.24 b.2 c.3
5. Add these
+ 341 a. 584 b. 548 . 582
243
341
6. + 43 a.792 b. 721 c.729

7. John has 6 red counters and Matthew has 11 blue counters. What is the product of
John and Matthew counters? a. 60 b. 66 c.16

8. Subtract these

47
i 2 19 9
38 a. 20 b C

9. .23 a. 29 b. 18 c. 28

25
10. Write five hundred and twenty six in numerals. a.50026 b. 500206 c. 526

Find the missing numbers of the following sequence.

11. 22,32,___,52, a. 51 and 53 b. 42 and 62 C.
42 and 53



12. 11, 22, 33, , 55, a.42 and 66 b. 44 and 65

44 and 66
13. 6 + 8 = 8 + a. What is the value of a. a. 14 b. 22 C.6
14. Aku is ten years and Adwoa is seven. What is their total age? a.12 b.3
c. 20

Write the numerals of these.

15. 400+6( |-= a. 400603 b. 463 c. 463000
16. 900+0[ F a. 90005 b. 90500 ¢.905
17. If T meter is 100 centimetres. How many centimetres will make 3 meters

300cm b.3cm c. 3000cm
Use the object below to answer question 18 — 20.

-,

18. What is the name of the object above? a. hexagon b. Pentagon
Kite
19. How many vertices have the object? a.6 b. 5 c.4
20. How many sides are found on the object? a.12 b. 6 c.5
SECTION B

Answer all questions
1. Complete the table below. (20marks)

Shape Name Number | Number | Number
of faces | of edges of
vertices

A

L0



O

2. a. measure the items indicated with the non standard units to complete the table
below.

ltem Non-standard unit Actual
Length of your Tooth picks
table
Classroom Hands pan
window

b. Measure the following by counting the material used to fill it. (9marks)

0 O 0 0O

Voltic bottles

DANN 24 cm buckets
AT
AR




c. Compare the two weights using a balance. (3marks)

The ball is

glasses of milk

than the bottle

of coke




